IPv6

IPv4

EDNS0:4096 EDNS0:1232 EDNS0:512

IPv6

EDNS0:4096 EDNS0:1232 EDNS0:512

Dual-Stack

EDNS0:4096 EDNS0:1232 EDNS0:512

dnssec_comPp_afi-v4-UDP_frag
IPv4

IPv6 Dual-Stack
EDNS0:512 EDNSP:1232 EDNSP:4096  EDNS0:512 EDNSP:1232 EDNSP:4096  EDNS0:512 EDNSP:1232 EDNSP:4096
7% 7 |7 Z7 NN\ | 2479, L9070 94047 | 4 274 | 7 77| NN\
/] 7 77 | NNNN | LA YL L | Y LA Y72 | NNNN
2 Y Y L NNNN | UL LA L | o YA Y 7 NNNN
Z 7 2 L NNNNN | OSSO0 | Y | L 0y YA NNNN
7 7 |7 27 NN\ DLY |\ L907 |\ 94077. | 7% 47 | 7 77, NNNN
7 74 |7 7/ | NNNN ///’/// YL ///’/// A/ /
/A Y L7 NN\ | YLL LS S | e
/A 7 Y2 | NNNNN | AL LAl | 0P | Y LY
7 74 |7 Y7 | NN\ | LA90 L4 |\ 000 | 4
7 % 7 27 | NN\ | UG | LY LA | v L
7 7 LY NN | YOS LA |\ LA | L
7 7 7 22 | NNNNN | LAl | L2 LA | 7 L
Nlﬁ QlNQ | NNAN  NONN | SN \ NN
NE\N NENN WANN | NN QNN ANAN
\\IN Nlﬁ& [ | N | NQON | ONNN | NNaN \\ NN
NE\N NENN NNNN |  NONNN | ONNN | NEXYN
VA7 /AN //4 ;ﬁ&; /AW AN/ /AW /Y
v VAR ZVARNNNE WA/ 2/ 2/ AW 272272/ A R/ 74
7 7 72 YA NNNNN | LS L2007 | 0l | 4 7
NEEN ,
/A V/AR/72 ii i LSl L L | L
NENE NHRNN HEEE [ NONN [ NNNN | NONN [ NEXN
DNY AN N NN | ANNRNAMNEINEINNNNENNNNNRN] slxs N
NE\N N NN NINNNEENNNINANEENANANNNE BN NAN N
NEXNE NENN B NONNN | ONNN | NNON | NEXN AN
TT T T T T T T T TTT TT T T T T T T T 1717 T T 17T T
ZREE ZRRS ZRRE  ZRRS IRRE IRRE  IRRE g
SO0~ SO0~ oOoo-~ SOOo- Ooo- ooo-~ SO0~ =
TIN TIN  TIN TIN  TIN  TIN TIN o
S ® [Sye-] S ® Q ®© [Sges) QS ®© S ® @®
5'02 5'02 5'02 E'UE 5'02 5-02 5'02 g
c<> =) c<s c<s c<> c<s c<> >
628 o528 528 ©38 ©38 ©38 o33 S
T T
o= S= o= S= o= o= o= =
= = = = = = = =
c Cc Cc Cc c Cc c Cc
=) = =) = =) = = =

T
<
N

500
1280 (PMTUD
1280 Eno PMTUD
Path 1280 (no PMTUD)

1500
1280 (PMTUD)
1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 PMTUD

1280 D
Path1280 (noP TUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 PMTUD

1280

Path 1280 noP TUD)

1500
1280 (PMTUD

1280 (no PMTUD

Path 1280 (no PMTUD)

1500

1280 PMTUD

1280 (no P Iv?
Path 1280 (noP TUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

1500

1280 (PMTUD

1280 (no PMTUD
Path 1280 (no PMTUD)

100; X >Y
50

10
5

-50
-100; X <Y

lOg( | %nssets (X) - %nssets(Y) |)

fv)



